FHIOEE TBEXHKRBEE

48 %
XHIER | XHH THHNE THEEE (M)
e 4548 |HTAREZEDHT 5,000
=& 4118 |LtBBBEFA- ERABERSFERRBS 9,000
=& 48208 |(HMEBR/NMERRERESIES 8,000
=& 48248 |FER/NPERATEBNBEXHEE DS 7,000
=& 4278 |ENEMR AN ZRBESFEDNS 8,000
& &t 37,000

58 %
XHIER | XHH XHRNE &% (M)
= 5108 (BHATRER -BERERIFEIDE 8,000
= 5128 [BHH/NPERPTAERBESBER 5,500
= 5A15H |BHMRGSEEREERGESERS 5,000
= 5178 |HHATERRBEBHRE 6,000
= 24,500

6 A%
XHIER | XHH XHRNE THEEE (M)

6ANDHEEXRBREXHIEIHYEFFATL,

= 0

7%
XHIER | XHH THHNE XHEE (M)
= THIB |BEHMHEBRKRE 8,000
= 7TH208 | TR I0OFEXHBHNENR BHR= 8,000
FH 7H268 |hiEREEERRT HEOH 5,000
= 7H30B |HHTHERBHRE 5,000
= 26,000

8A®
XHIEHR | XHH THRHNE THEEE (M)
= 8A1B |BHMEEFERBHE 8,000
= 8,000

9B %
XHIEHR | XHH THHNE THEEE (M)

IANDHEBEREXREFEEXIHITHYFEFHATL,

= 0




108 %

XHIER | XHA XHRNE X &% (M)
ZM€ [10A11B|F26EMOAEMEREELE 10,000
=1 10,000

11A%
XHIER | XHA XHRNE THEEE M)
= 1MA8H |TEEHEZRERFHRIMR 8,000
= MAH |FER/NMNEZERABTEBHIOZERER 7,000
& &t 15,000

12A%
XHIER | XHAH THAR I &% (M)
= 12A18 ([BHT=RIRERTFER 5,000
= R2ANB|BHTRESHESERBEZEH LIS 8,000
= 128178 |BHTHBBRHAS 5,000
= 128188 | FERERX B 6,000
& &t 24,000

1A%
XHIER | XHA THAR ZH&EE (M)
FH 1A8H |EBMHBERER ZEEOH 5,000
= 18128 |E=/NERRFFEARER 3,000
= 18158 |HEthXEEFTRESHES 7,000
= 18168 |BHTRESEBHRS 6,000
= 18248 |BHTHERBRE 5,000
= 1268 |BHTHERERIBHS 6,000
zDh (1A278 |XREHEEFERR 2,000
= 34,000

28 %
XHIER | XHH THRNE THEEE (M)
FH 298 [#HEBEEREKOE ZHEOH 5,000
= 2108 |BEHTAREREERRS 6,000
= 11,000

3A®
XHIER | XHH THRNE THEEE (M)
= 3A198 |HEMRXRHBEHBRMRS 6,500
= 6,500

ERHIVFEEDHERDXEE(IL 196,000 TLT=,







